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SPARCO ofters analysis of live weather data and provide help to make business
decisions based on weather forecasting.

Computer can perform a task again and again without any difference is called
consistency.

Choose the correct option
CBT stand for
a) Computer Based Trade

c) Certificate Based Training

(a)
(©)

(a)
(c)

(a)
(c)

(a)
(©)

The benefit of CAD may be summed up as

1s not related to business:

b) Computer Based Training
d) None of the above

CAD
Marketing

device is used in banks to read cheque of customer:

OCR
Bar-code reader

OCR

Stock exchange (b)

Departmental store (d)

OMR (b)

MICR (d)
devices 1s used in departmental store:

OMR (b)

MICR (d)

Bar-code reader

1s not relevant to office automation:

Document management system  (b)

Security system (d)

a) Accuracy

c) Speed and flexibility of production

(a)
(©)

(a)
(©

Message handling system
Office support system

b) Repeatability
d) All of the above

is not related to document management system:

Word processing (b)
Desktop publishing (d)
scanners 1s used in hospitals:
Image scanner (b)
Bar-code scanner (d)

Computer at home can be used

a) Keeping records

¢) Watching Movies

A word processor can be used to
a) Write Text

Reprographics
Electronic banking

CAT scanner
OCR

b) Making budgets
d) All of the above

b) Edit Text
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¢) Print Text d) All of the above
The fly-by-wire system is used in:

(a) Medical field (b) Business field

() education field (d) Airline

CBT stands for:

(a) Computer Based Trade (b) Computer Based Training

(c) Certificate Based Training  (d) None

The benefit of CAD may be summed up as:

(@)  Accuracy

(b)  Repeatability

(c) Speed and flexibility of production

d Al

CAL stands for

a) Computer Aided Learning b) Computer Assist Learning
¢) Computer Aided Leading d) None of the above
Typically, and ATM can be used to

a) Keeping records b) Making budgets

¢) Watching movies d) None of the above

Modern computer can perform calculations or process at high speed
a) per second b) per minute

¢) nino second d) None of the above

Computer at home can be used for:

(a)  Keeping records (b) Making budgets

(c)  Watching Movies d Al

A Word processor can be used to:

(a)  Write Text (b) Edit Text

() Print Text d) Al

CAT stands for

a) Computerized Axial Topography b) Computer Axial Topography
¢) Computerized Aided Topography d) None of the above

Computer based weather forecasting depends on accurate collection of data from
a) Television b) Weather stations

¢) Radar d) Antenna

MICR stands for
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a) Magic 1n character Redo b) Magnetic Ink Character Recorder
¢) Magnetic Ink Character Reader d) None of the above

CAL stands for:

(a) Computer Aided Learning (b) Computer Assist Learning
(c) Computer Added Learning (d)  None

Modern computer can perform calculations or process at ——— high-speed:
(a) Per second (b) Per minute

() Nino second (d) None

Which term is not related to business?

a) Stock exchange b) CAD

c) Departmental Store d) Marketing

Bar Code reader 1s used in:

a) Banks b) Departmental Stores

c) Offices d) None of these

Which term is not related to Office Automation?
a) Document management System b) Message handling system

c) Office support systems d) CBT

Computer based weather forecasting depends on accurate collection of data from:
(a) Television (b) Weather stations

(c) Radar (d) Antenna

MICR stands for:

(a) Magic in Character Redo (b) magnetic Ink Character Recorder

(¢) Magnetic Ink Character Reader(d) None

Bar Code reader is used in:

a) Banks b) Departmental Stores

c) Offices d) None of these

Which software is not related to DMS?

a) E-Banking b) Word Processors

c) Spreadsheet d) Desktop publishing

Which scanner is used in hospitals?

a) Bar Code reader b) OMR

c) CAT d) Image Scanner

WRITE T FOR TRUE AND F FOR FALSE STATEMENT:

CBT is more expensive than non-CBT training. (F)
Videoconferencing is an advanced form of teleconferencing. (T)
The e-shop has opened for limited time period on the web sites. (F)
CAL could be described as the use of information technology to assist in the
teaching and learning processes. (T)
Bar Code Reader can be read all types of ink characters. (F)
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FAX machine can be inserted inside computes.
A robot is an automatic programmable machine.

A computer simulation is a special type of computer hardware.

An electronic banking is also known as cyber-banking.
Modern computer can perform calculations at a second.

(F)
(T)
(F)
(T)
(F)



